40 0Oodoood

000000000 w(r)ODODDO UOOOO xg, @1, 2, ---, xxy 000 w, w1, us, ..., uy 30000
O (discrete) 00000 O00O0OO0OO0OO0OO0O0ODOOOOOO0O0 «00O0D0OO0ODOOOOOOOOOOO
(interpolation) D 000000000 « 00000000000 (extrapolation) 000 (D OODOOOO
00000)00oUoOoOU0O0U000U000U00w(r)D0O00O0ODO0O0OO0O0ODOOOOOOUOOO0OOOOO
oooooooooobooobooboobOobOoOooOoOoobOooOOobOOoooooboboobooooboob20000
000300000000000»+1000000 000000000000 (approximate functions)
0000000000000 (polynomials) 00000000000 OODOD OO0OOODO 1000000
oboobOboboooooooboobooboooOoobooboboooooboooooobboobobOoooboOon
oobooooobooooooobobooboobobooobooooooobobooooboobooooboooooo
gbjoooboooboboboobobooooooobooboboooooboooboboobooboonbooa
gdoobooooobboooboooobo 200000o0oo0ooooooooooobobOobOoDbo
000000000 uw(r)DOOOO (discontinuities) 0 00 0000000000000 0OO0OOOOO
000000000 D00O000oo000O000oO00o0oU000Duw(z)DDOOODOOOOODOODOO
gooboobooobooboobooboooboobobooboboooobobooobooboobooooobooooon
obooooOobOoO0o0ooboooooooooooooobooooboobooooobobooooobooooooo

4.1 Lagrange 00O 0OO

oo u(m)DDDDDDDDD n+10000000 ug, ug, ..., u, 00 20 n0O0000O0O
pn(z):a0+a1x+a2z2+---+an:ﬂ"EZa,,rc" (4.1)
v=0

o00b00dd « 0OD0OO00D0On+100000000O

uj = pn(zj) = Za,,:cj” (j=0,1,...,n) (4.2a)
v=0
ooono
1 To . iL”g' Qo Uo
L e P (4.2b)
.1. xn ...... mz ; N

0000000000000000 (42) 00000, 000 10000000000000 Vandermonde
0000000 10000000000000000 (42)00000 ¢, 00 (41)000000 Lagrange
O00000000000000 D00000Db000 LagrangeJO0O0OO0OOODODOOOOO
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0 (4.1)0 pu(z)0 @,0 10000000000000 (42)0 v;0 @, 0 100000000000
000000.00000 pa(r)0 »; 0 100000000000000000000000

Pn(T) = uobo () + u1bi (x) + waba(z) + -+ - + wnbn () = Z br. () ug (4.3)
k=0

000 i(z)0 x000,000000000000000 n+100000000

od0doooo0doooooodo ;000000000 ooooooooon

0 | £k
br(zj) = 0k; = { (]. #h)
1 (j=k)
0000 n0000 be(z) D0n0000000 o, ..., Thot, Thrty -, 2n D00000 be(ae) =10

000000000000 00 b(x)DDOODDOOODOOODOOOOOOOO

_ (mwm) (e mem) (= apg) - ()
bi(z) = (xp—x0) - (T —Th—1)(Tk —Thy1) - - (T —Tn)

Lagrange 0 0 00 O (Lagrangean interpolation polynomial) 0 000000000 (4.3)0000000
goooogoooo

) =3 7 (1.42)
ooo
Li(z) = (z—zo)(xz—21) - - (r—2p—1 ) (T —Tpt1) - - (T—Tp) (4.4b)
uboobuoobdr»=1,2,300000000100020003000000000000000
n=1000000
T—1] T—2o

u(z) ~ pi(z) = fCo—muO + $1—$0u1

good
u(a) = (1—a)u;+au;; + O(Az?)

000 a=(z—2;)/ATi1/2, ATiyrjp = 21—, 00000000000000000000 20100
O0r=20000 u=wlz=2000 u=u;, 000000000000000000000000C0O

pi(z
g

Zo xr x1
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n=2000000

(z—a1)(x—2) (z—x0)(x—2) (z—xo)(x—m1)

ule) = (wo—a1)(@o—22) " (w1 —0) (@1 —22) " (wa—z0)(@s—a1) "2 " 0(4z’)
oad
ula) = Z Cf(a)uiﬂ- + O(Az?) (4.5a)
ci(0) = 26205 Gy = AR gy - (e (1.5b)

oo a:(l'—l'i)/A.’L'i+1/2, m_:A.’L'ifl/z/A.’L'ile/Z, A.’L‘i+1/2 :$Z+1—$ZDDDDDDDDDDDDDD
oooboob0z020000a=-m",0,10u=wu;—1,u,u;+; 0000000000000 O00OOOC
00000 (m-=1)00000

ula) = %a(a—l)ui_l — (a®=1)u; + %(a+1)QUi+1 + 0(Az?) (4.6)
n=3000000

u(z) = (x—z1)(x—22)(T—23) . (z—x0)(z—22)(T—123)
(zo—1) (0 —22) (T0 — T3) (z1—m0) (21 —22) (71 —T3)
, (@—zo)(z—m1)(r—23) (z—wo)(z—a1)(z—22) "
N(wa—wo)(w2—w1) (w2 —w3) ~ (v3—wo)(ws—w1)(z3—22) +0(de)

oo
ula) = ZC’?(&) uirj + O(Az?) (4.7a)

3 ___ ala—1)(a—1—m™) 5\
Cila) = Cm—(m—+1)(m—+1+mt)’ Cola) =
(a+m™)a(a—1-—m™)

(m=+1)m*

(a+m™)(a—1)(a—1—m™)
m~(1+m™)
(a+m )a(a—1)
(m=+14+m*)(1+m*T)m*t

?

(4.7)

Ci(e) = - ; C(a) =

000 m* = Aziyy jos1 JATit1 )2, i1y = 21—z 00000000000000<a<100000
000000000000 0000 2030000000000000 w(wiy,)=uy, (j=-1,0,1,2)
00000000000000000000000000 (m*=1)00000

ula) = Z C¥(a) uiyr + O(Az?) (4.8a)
k=—1

CZi(a) = —a(a—1)(a=2)/6, Ci(a) = (a+1)(a—1)(a=2)/2,

(4.8b)
Ci(@) = —(a+)a(a—-2)/2, Cj(a)= (a+1)a(a—1)/6

0000000000D00000000D0 (truncation error) 1 00 0000000000000 OO00O
000D00000000000(Az*)000000 Az0400000 (oder) 000000000000
0000 00000 Taylor 0000000000000 (470000 TaylorOO
1 1 1
2! 3! 4!
l000000000000000000000000000000000000000000000000000

u(@) = u;+ahul+ —a®h*u + —a®h3ul’ + a4h4u§4)+- - (4.9)
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1 1 1
Uij1 = ui—m_hu;+§(m_)2h2ug'—y(m_)3h3u;"+g(m_)4h4u£4) +--
112111311114(4)
Uj41 = ui+hui+§h w; +§h u,; +Eh u; +- - (410)

1 1 1
Uitz = ui+(1 +m+)hu;+§(1+m+)2h2ug'+5(1+m+)3h3u;"+E(1+m+)4h4ug4)+- .

000 h=A,0000000000000000000 000000000000
1 - +yp4,, (4)
etza(a—l—m Ja(a—1)(a—1-m™)h*u; " +--- (4.11)

0000000000000000000000000000000000000000000000
0000 Taylor 000000000000000000 Tayloe 000000000000000000
0000000000000000000000 Taylr0000000000000000000000
000000000000 0000000000000000000000000000Tayler0000
0000000000000 0000000000000000000000000000000000
000000D000000000 Taylor 00000000000000000000000000000
0000000000000000000000000000000000000000000 (round-off
error) 000000000000 10000000000000000000000

000000000000 Lagrange 0000000000000 300000 10000000000
0000000000 (4.8)0000 100000000000000000000¢%,, 30000000
¢, C}000000000

a—14+m —mt a+m —mt
C3=1- &0 T 08—y~ afa—1) T T
0 « +Oé(a ) m,(1+m+) ) 1 « Oé(a ) (m,+1)m+
000 48)0 00000000000 Oon
2 ~
u(a) = u;+adu; + aa—1) Z Ciuiy; (4.12)
=1
~ a—1—-m™T ~ a—1+m~—mT
c3, == c3==_-—-"" """ 4.13
-t m—(m—+1)(m—+1+m+)” ° m~(1+mt) ~’ (4.13)
~ a+m —m™T ~ a+m~
= —— Cs = 4.14
! (m=+1)mt’ 27 (mm+1+mH)(I+mT)m+ (4.14)

0000 a=0,10000000000000000 a(e—1)000000000
0000 3000002000000000000000000i-1,4,i+1000 20000 (4.5)0
0000D0000030000 (48)000 ¢3,,C3,¢c3000000000

o3 ala—1) B ala—1)(a+m™)
-t m~—(m~=+1) m~(m=+1)(m~+1+m*)
B ala—1) ala—1)(a+m™)
Co=—(a=1)~ m- m~(1+m™)
3 al(a—1) ala—1)(a+m™)
Cr=_a m~+1 (m=+1)m*

~~ ~~
2000 30000



gbodomooooggooboo )

3000000a=—m~,0,100 00000000000000 (a+m™)ale—1)0000000000
00300000 @nooooooooooooooo
1 . 1
u(a) = ui-l-aAuiH/z-l-Ea(a—1){A2ui+g(a+m7)A3ui+1/2} (4.15)
000 Augyyje, Aus, Ausy,,, 000000000000 10020030000000000000
god

Ui—1
U= Ui
y > Aui—1/2 - m— > Al — Aui+1/2_Aui—1/2
i > B v (m—+1)/2 > A3 A2ui+1—A2ui
U; = Uit1—U; Ujyp1/p = —————————
e o 2 Auiyz/p—Auip o e (m~+1+m%)/3
Uig1 Afuipg =
Uitz = Uil (I+mt)/2
Aui+3/2 = T
Ui+4-2
>«
1—1 3 i+1 142

100000 TaylorOO OO (4100000000
1 1 _ 1
Auiyyy = hu;—gm th;"Fa(m )2h3u;”—a(

1 1 1 4
Aty = hu;+gh2ug'+ah3ug"+zh4ug )

m7)3h4u(-4)+- -

K3

1 1
Auirsy = huj+ o (24m )R uf + 5 {3+3m ™+ (m*) " Hhuyf

1 4
+E{4+6m++4(m+)2+(m+)3}h4ul(- Ve
000000000 2000030000 Tayle 000000000000
A?y; = 2{ih2u”+l(1—m_)h3u'”+i{l—m_+(m_)2}h4u(4)+- o }
B O R T tlygl :

1 1 1
Ay = 2{gh2ug'+§(2+m+)h3ug"+I{3+3m++(m+)2}h4u§4)+- . }
1

1
Auiyy = 6{§h3u§”+I(?—m_+m+)h4u£4)+. . }

0 (41500000 (4900000000 Taylr 000000000 0AO0O00O0D0O00000
1
41
00000 30 Lagrange 0000000000000 (411)00000000000000000000
0000000000000000000000000000 (a=-m~,0,1,1+m™)0 0000000
00 (a+m )ala—1)(a—1-m™) 000 o0 40000000 (47)0000 Tayloe 000 (4.9)000
0000000000000000000000000000

1
a4h4u§4)+- = [a+a(a—1){1—m*+(m7)2+(a+m7)(2—m7+m+)}]h4u£4)+- et

1
w;+ahul+-- -+Ea4h4ug4) =[30 Lagrange 0000 0] + ala+m )a(a—1)(a—1-m)

00e0 o*00000000000000000Oae=rn4Y/40000
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4.2 Newtonl O 0OOO

ooo00ooooooOboobObO0obooOob0obooboOo00obOob0o0o0oOggOdNewtonOO0OO0O0O0O00O
U000O000O00b0O00Db00 NewtonOOOOOOOOOOOODOOOODOOODOOOOODODOOO
gooo0oDoDOo0o0DbO0O0o0O00O0O0000000Db000DLagrange0 0 000DODOOO0OODO
OO000O0O0DDO0ODOCDOODO0O0OD0O0OD BesselDOOOUOGaussOOOOOStirlingDOODOOODO
ooboboboooobooboooooobooooooobooOoobooooobobobooooooboboooon

gobooogobooo

4.2.1 NewtonOOODOOO

Lagrange 0 000000000000 000OC0O0OO0O0O0O0OOO0OO0O0O0COOOO0 ODO0OO0OOOOO
000000000 z0<z <z 0000 NewtonOOOOOO (Newton’s forward interpolation formula)
000000000000 00000000000 (forward-differences) 0 000000000000 O0O

gooooooooo

omood Elu,-_,_l—u,- :AUZ
2000 AuiH—Aui = A2Ui

kOO0 Akly g —AF Ly, = Ak,
0000000000 000000000000000000

x U A A2 A2
Xo U

Auo
r1 U1 A2’u,0

Aul A3u0
o U2 A2U1

A’ln A3u1
T3 | us APus

ooboobooooow0oooooooboooo

Au; = —ui+uit,
A2ui = ui—2ui+1 +’U,i+2,
A3’U,i = —ui+3ui+1—3ui+2—l—ui+3, """
k
k k k!
Aky; = —1)k-v i+y0 000 =——  _[goood
¢ :;)( ) (1/) it <n> n!(k —n)!

NewtonOOOOOOOOOOOOOO u(z)l:ll:ll:l nO000000000
pn(x) = ag + a1 (z—x0)

+ as(z—mo)(x—11) + -+

+an(x—xz0)(z—21) - (T—Tp_1)

=ap + Zak(:ﬂ—xo)(m—xl) e (z—xp1)
k=1

(4.16)

(4.17)
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ood ap,a1,...,a, 0000000000000 0O0OOODODO0OOOO0OOO0OO
J
uj = pi(e;) = ao + Y an(aj—wo)(wj—w1) - (& —wp_1) (G=0,1,---,n)
k=1
gogo
1 0 agp Uo
1 h ay (5%
1 2h 2h? az | = | u
1 nhn(n—1)h%-- nlh" an, Unp

obdd e, 0000000000000 DO00DO000D000 e O0O0O0O0O0OO0O0DOO0ODOO0OOn

ap = Up
1 1
a; = —(U,l—U,O) = —A'U,O
hl hl
ay = W(U2—2u1+u0) = ﬁA%j,o (4.18)
............ ) )
an = e e f— n'hnA U’O

Newton 0000000 0000 4170000000 4.18)000000000OOOO0OOOOOO
0000 00000z =2,+ah000000 «OOODOOODOOOOOODODOOO

1 1
ula) = ui+aAui+§a(a—1)A2ui + - '+ma(a—1) c(a=n+1)A"u; + O(R"T) (4.19)

£
k=0

0000000000000 %, ®iy1, Tige, ... 00000000000 00000 z; <z < x4 (0<
a< 1) 000000000000 O000000O000D0z<2; (@e<0)0000000COODOOOOO
00000000000000000000000000000000 w;, Au;, A%y, ...0000000
obooobooooooon

O ONewtonOOODOOOOODOODOOODOO LagrangeD OO 0000000000 OO0O0O0DODOO
0000 Lagrange 00000 (44)00x=20+ch000000 «00000000O00O0O0OO

v

S _o=s0) i) omn) (a2

(‘75'/_‘750) e (JI,,—.’L‘,,_1)($,,—$,,+1) T (.’L‘,,—.’L‘n)
= Z %a(a—l) - (a—v+1)(a—v—=1)---(a—n)u,

00 Newton 0O OD0D00 (4.19) 0

n k

U

k=0 v=0

n n _1\kv
:Z %a(a—l) - (a—v+1) [Z ((ki)y)’ (a—v)--- (a—k—|—1)]u,,
v=0 )

k=v
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o000 (00D000DO0OO00O0OO0O0OODOOO00O0ODOOO0ODOODOOO0OODOODODOOD
gboooooboooobooo

n -1 fe—i
> ((k_)y)! (a—v)-- (a—k+1)

U000 NewtonOOOOOOOOODOOOODOD Lagrange0OOOO0O0OOOO0OO0OOOODODODOOOO
ooodor-n+100000 w; 000 nO000000000O0O0O0O0O0O0OOOOOOOOOO

oooog

4.2.2 NewtonOOOOOO

OO0 NewtonOOOOOOOOOOOOOOOOOOOOOOOCOOOOOOOODOOOCOCOO
Newton D0 00000000000 000OO (backward-differences) O
oooog Dui—ui,l :Vui

2000 Vui—Vui_l :V2’U,i

kOO0 Vkh1ly,—Vkly,_, =Vky;

oboooooooboobobooooboobooobooooobooooon

T u v v? %

i ur V2u8

VUg VsuQ
Ts us VZug

Vug V3uio
To Ug VZuio

Vuio
Z1o Uu1io
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udboboooow 0ooooooobooo

Vu; = uj—u;—1,

2 —
\Y U; = ui—2ui_1 +ui_2,

Viu; = uj—3u; 1 +3u; o—uig, - (4.20)
k
k
Fui =) (=1)” i
V¥u ;( ) <V>u

Newton 0 00000 O (Newton’s backward interpolation formula) 0000 w(z) D n 000000

p(x) 00000 ao, a1, as, -..,a, 0000000
pa() = ao + Y ax(e—w;)(@—zi1) - (T—2ips1) (4.21a)
k=1
1
ap = ui, ap = vaui (k=1,2,...,n) (4.21b)

000 0000000000000 szi<e<e0000000000000000C002 =uz;+ah
gooogooooooobo

1 1
u(z) = u; + aVu,; + 5a(a+1)v2ui +- 4+ ma(a+1) c(atn—1)V"u; + O(h™) (4.22)
= <0‘+]’:_1> VEu; + O(h™)
k=0

oododd -l1<a<00OO0O00O0O0O0O0O0O

4.2.3 GaussUUOOOODO0OGaussOOOOO00OOStirling0 000 0OBseesl D000

O0000000000000000 (central-differences) 0 00000000000 OOOOOOOO
0é000 ADDODOOOOOOODODOODOOODO

Auiy/o = Uiyl —U; = Auy = Vuit1,

Atu; = Aui+1/2 _Aui—1/2 = A%u;_y = vzui+1;

A3ui+1/2 = A2’U,i+1 —A2ui = A3ui_1 - V3ui+2, (423)
A2y, = A2m_1ui+1/2 —A2m_1ui,1/2 = A2y, = V2" Ui,

APt gy = AP — AP = A2ty 0 =V

gbobooooooooobobooooboobooooobooobobOOobbooobobooboboooooon

x U A A? A2
) ) Az
Ti—1 Ui—1 Ui—1 3
Aui—1/2 A Ui—1/2
T; U; A2y,
3
Aui+1/2 ) A Uit1/2
Tit1l | Wit1 Auitr R
Aui+3/2 ) A Uit3/2
Tit2 | Wit2 Aluy
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GaussOOOQOQOoOoQOO

u(z) = agtar(z—zo)+tas(z—zo)(x—21)+az(z—x_1)(x—x0) (T —21)
+as(z—z_1)(@—z0)(®—21)(T—T2)+"

000000000 u =u(xo), ur = u(zy), u_g = u(z_1), us = u(z2), u_g =u(z_2),... 00000
goooooooooooooboooooo

. Q Q . a+1 a+1
u(m);ui+<1>4“i+1/2+<2>ﬂzui+< 3 >A3“i+1/2+< 4 >A4“i+"' (4.24)
000 z=x;+ah 00000000000 GaussOOOOOOOOOODOO
+1 +1 +2
u(w) = u;i + <T>Aui1/2+<a2 >A2Ui+<a3 >A3ui1/2+<a4 >A4ui+--- (4.25)

Gauss 000000 (4.24)(0 41000)0 Gauss 000000 (4.25)(0 410000)00000000
O Stirling0000000000

Auipy2+Aui_y)s n 1,

= 200
u(z) =u; + 5 T Ay,

1 . A3Ui +A3Ui_ 1
+§a(a2—1) +1/22 1/2+Ea2(a2_1)A4ui+”_

(-1/2<a<1/2) (4.26)
00 GaussUOOOOO (424) 000000000000 GaussOOOOOO (O 41000)
) a—1 a\ o a\ s a+1\ 4,
U(.’L‘) ;Ui+1+ 1 Aui+1/2+ 9 A ui+1+ 3 A ’U,i+1/2+ 4 A ui+1+---

OD0O000000 BesselDODOODODOOODO

it 1 1 Alui+ A?u;
u(z) = % + (Q_E)Aui+1/2 + ga(a—l)%
4, . 4,
+ %a(a—l)(a—%)A%iH/g + %(aZ—l)a(a—2)% +
0<a<l) (4.27)
Tio1 Ui—1
(5ui_ (53 i—

. N / 1/2 \ . / Ui—1/2 \ . / Stiting O

> 0uit1/2 < >63Ui+1/2 < > Bessel 00 O
Tit1 Uit1 % uig1 8wty

—— Gauss 000, —— = GaussOOO0O

041 0000000000
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4.3 UOO0O0OO0O0OO

00000000 wi=u(z), i=0,1,2,...,n0000000000000000000Lagrange O
00000000 ug, wi, us, u3 000 300 Dus, ue, us, ug D00 3000.....0 0000000000
0000000000 23, a6,... 0000000000000 u, u, us, us 000 300000 [z, 22]0
Uy, Uz, uz, us 000 300000 [2n, 23]0.....0 000 000000000000000000000
00000000 000000000000000 Fouder 10000000000000000000
00000000000000000000000000000000000000000000000
0000000000200000000000 300000000 n+100000000000 2n+1
00000000000000

4.3.1 3000000

000000000000 300000000 (cubicspliney000000000OOOOO 300000
gobooobooboon

S(z) = ap(1—a)®*+ara® +ax(1—a)+asa (0<a<l) (4.28)
S(xi) = ui,  S(iv1) =wiyr; () =, S"(viy1) =0l

000 a=(z—z;)/Ax;, Az, =241 —2; 000000 300000000000000000000OO
uooooog3buobboooobobooooooon

Ag?

S(x) 5

Ax,? Az?
{(1—a)3u'£+a3u'£+1}+(1—a)(ui— g’ u'§)+a(ui+1— gl u'éﬂ) (4.29)

ugb 30000 S(az)zzzzoakakDDDDDDDDDDDDDDDDDD sogooboooooboo
00000 «000 2000 «"0000000000030000000 «;, 20000000000
0000o000oooo 4290 x0000 o=0000 1000000000000O00OO0OOOOO

’ Ui+1 —Us AIZ

u'; = sz % (2u'§—|—u'§+1) (4.30a)
i1—u; | Ax;
Wipy = %“‘ g (ui+2u'iy) (4.30b)

00, 0000000000000000000D00O0OD0 (4302)00 (430b)000¢0¢—10000
booboooooobooboboob 200000000000 b0O00COOODOOObOOn

Az;_q an Az, + Az, o Az; " Uil U _ Uj —Uj—1 (431)

6 il 3 T i T T A Az,

0o0000uw!,,uxn 0 Taylor 00D D0 OO0O0O00OO00OO

(2

1 1
ipam,y+Amg{ug+§(Axrn4m,ﬂuw}+(xAx%

00000003000000000000000000 (Az,_1+Az;)/20000000000 «”0 2
00000000000000000000000

00000 /4100000 w (i=0,1,...,7)000300000000000000000000
00@() 00000 W, «,00000000000000¢(Gi) 0 =y, 2,...,z,1 00000 (4.31)00
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2000000 (4.30a)00 2; 00 (4.30b)0000 w” (i=0,1,...,1)0000000 () 300000
000 (429)00000000000000000 3000000000000 20000000000
000D00000000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000000

4.3.2 0000000

0 (4290000000 S®=0000000 (0)0000000000000 ODOO0OO0OO0O00
ooooob030b0oboooobboobooboobbooooooboboboooooboobooooobooooon
obboooooooboooboooboboooobooboooboooooboooooooboooboon
O000D0000000000 SW—p?§"=00000000000000000000000000
0000000000000 0D0000000000 (exponential spline) 0100000

oboooooooOo0ooooooobooooooooooog

S(z) = ag sinh((1—a) Az p)+a; sinh(aAz p)+az(1—a) +aza 0<a<l (4.32)
S(@i) =ui,  S(zit1) =uir; S"(zi) = v, §"(zin) = u'iy,y
000 p2000 A;; 0000000000 DOOODOODOOODOOOOOOOOOODOOODOODOD
000000 sinh((1—a)Azp) = sinh(Az p) cosh(aAz p) —cosh(Az p) sinh(aAzp) OO0 D00 0000
cosh(aAzp) O sinh(aAzp)0 1000000000000 0OOOOOOOOOOO 300000000
ooobooobooboooooooooboooooboooooooooooooooboooooobooooon
gooo

1

S(z) = p,;? sinh Az;p;

{u} sinh((1—) Az;p;)+u'l,, sinh(aAz;p;)}
n

+(1—a) (u—]%) +a(ui+1 - “ﬁgl) (4.33)

[ %

300000000 (43000 43)00oOoO0ooOooooOooOoO

/ Uy —Up " " / Ur—ur—1 " "
- —(d : = U TUEL L e dy 4.34
Uy Ao (dou'y+eou'y) uy Azr1 +(er—1u'r_y +di—u'y) (4.34)
Wit1 —Ui Ui Uiy .
ei,1U,£_1+(di,1 +di)u’lg+eiu’;+1 = sz - Azi—l (Z = 17 27 B I_]-) (435)
oo
di=—— 1+ 1eoma L1 osecha (4.36)
i = — — CO TiPi, €e; = — —CoSsec. TiPi -
Azip? - pi b Azip?  p; P

00 o, wi, uw, v/ 0000000000000 A, ps,ds,e; 0000000000000000000
000000000000000000000000 p;=0000 30000000p,00000000
0ooooooo

U0 ooobooobooooboobooobooo 3oobobooboobooobooooon

0 (4.32)0000 d,... 0000000000 (4.28)0 (4.29)00 ap = Az2u!’/6, ay = ui—Azu! /60
00 ¢00000 sinh~a+2%/6000000p 000000 (4.32)0 (4.33)00 ao = u/(¢sinh P) =
u?[(¢P), apP+as = ul P/(¢sinh P)+u;—ul /¢ = ul! (1—P?/6)/¢p+u;—u /¢ =u;—AzFul /6 000 00
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00000000 P=Axp;, ¢=p?000000000000 a1,a30 &1,a300000000000
obooooooooooo

ap = (NL()P3/6, ay = (~11P3/6, as = (Nl()P-f-(NlQ, as = (~11P+(~l3

p;000000 (432) 00000 S(z) & d@oP?(1—a)3/6+d; P3a3/6+ (G P+is) (1—a) + (41 P+as)a O O
000000000 (428)0000p; 00000000000000000000000

4.3.3 0O00OO0O0OOOO0OOOO

obobo0ooooooooooobooobooboooboboboobOobobObooboobooon

1
CASE 1: :U2+§(1—ar), (-06<z<1)
CASE 2. —— (—06 <o <1)
z+1
—06<z<
CASE 3: : (-06<z<0)
exp(—2z) O 0<z<1)

CASE 10 2000CACE20000000O0O0O0OCASE3SOOOOOOOOOO0OODOOOOOG
00000ooo0d0Ud0w, 0000000000000 0000O000000O0O00OOO Az=0.20
0o00o0oooOo0o0oOo0o0oo000UoooOoOU0O0000 wOODODDODODOODODOOOODO
gboooooboooobbobobobbobobooobobo sePLO00O0bOOOO0DODOODODOO ESPL
gboogoogo

program MAIN
DIMENSION xi(-3:5),ui(-3:5),x(-6:10),u(-6:10),u0(-6:10) ,du(-6:10) ,nj(-3:5)
DATA is,if,ns,nf/-3,5,-6,10/ nj/-6,-4,-2,0,2,4,6,8,10/
OPEN (20,FILE="0UTPUT.dat’)
FORALL(i=is:if)xi(i)=.2%i
FORALL (n=ns:nf)x(n)=.1%n
nn=0; 100 nn=nn+1
! Compute data and gradients at both ends of original curve
GOT0(21,22,23) ,nn
! Case 1: x"2+(1-x)/2
21 FORALL(i=is:if)ui(i)=xi(i)*xi()+(1.-xi(i))/2.
gs=-1.7; gf=1.5; GOTO 25
! Case 2: 1/(x+1)
22 FORALL (i=is:if)ui(i)=1./(xi(i)+1.)
gs=-1./.16; gf=-1./4.; GOTO 25
! Case 3: exp(-2x)
23 FORALL(i=is:0)ui(i)=1.; FORALL(i=1:if)ui(i)=EXP(-2.*xi(i))
gs=0.; gf=-2.*%EXP(-2.%1.)
25 CALL SPL(xi,ui,is,if,gs,gf,x,u,ns,nf,nj) !select subroutine SPL or ESPL
126 CALL ESPL(xi,ui,is,if,gs,gf,x,u,ns,nf,nj)
! Compute deviations of spline from original curve
GOT0(31,32,33) ,nn
! Case 1: x"2+(1-x)/2
31 FORALL (n=ns:nf)ul0(n)=x(n)*x(n)+(1.-x(n))/2.; GOTO 35
! Case 2: 1/(x+1)
32 FORALL(n=ns:nf)ul0(n)=1./(x(n)+1.); GOTO 35
! Case 3: exp(-2x)
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33 FORALL(n=ns:0)u0(n)=1.; FORALL(n=1:nf)u0(n)=EXP(-2.*x(n))
35 FORALL (n=ns:nf)du(n)=u(n)-u0(n)

WRITE (20, (17F10.5)’) (u0(n) ,n=-6,10)

WRITE (20, (17F10.5)°) ( u(n),n=-6,10)
WRITE(20,’ (17F10.5) ) (du(n) ,n=-6,10)

IF (nn<3) GOTO 100

CLOSE(20)

STOP

END

Dkkkxxkkkkx Interpolation by cubic spline

SUBROUTINE SPL(xi,ui,is,if,gs,gf,x,u,ns,nf,nj)

DIMENSION xi(is:if),ui(is:if),x(ns:nf),u(ns:nf),nj(is:if),dx(-3:5),a(-3:5,3),b(-3:5)
FORALL (i=is:if-1)dx(i)=xi(i+1)-xi(i) Delta x

FORALL (i=is:if,j=1:3)a(i,j)=0.

FORALL(i=is:if)b(i)=0.

! Compute u’’

cycle_1: DO i=is,if

IF (i==1is) GOTO 11
a(i,1)=dx(i-1)/6.; a(i,2)=dx(i-1)/3. 'coefs of 1lhs
b(i)=-(ui(i)-ui(i-1))/dx(i-1) 'rths
IF(i==if)CYCLE cycle_1
11 a(i,2)=a(i,2)+dx(i)/3.; a(i,3)=a(i,3)+dx(i)/6. lcoefs of 1lhs
b(i)=b(i)+(ui(i+1)-ui(i))/dx(i) 'rhs
ENDDO cycle_1
b(is)=b(is)-gs; b(if)=b(if)+gf ladd grads
CALL GAUSS3(a,b,is,if) !compute u’’
! Compute of spline
i=is

DO n=ns,nf-1; IF(n==nj(i+1))i=i+1
dx2=dx(i)*dx (i)

al=(x(n)-xi(i))/dx(i); all=1.-al lalpha, 1-alpha
u(n) = dx2/6.*(all*all*all*b(i)+al*al*al*b(i+l)) & !compute spline
+(ui(i)-dx2/6.%b(i))*all+(ui(i+1)-dx2/6.*b(i+1))*al
ENDDO
u(nf) = ui(if)
END

Dskkxxkkkk*x Interpolation by exponential spline
SUBROUTINE ESPL(xi,ui,is,if,gs,gf,x,u,ns,nf,nj)
DIMENSION xi(is:if),ui(is:if),x(ns:nf),u(ns:nf),nj(is:if),dx(-3:5),a(-3:5,3),b(-3:5), &
c(-3:5),p(-3:5),d(-3:5) ,e(-3:5)
FORALL (i=is:if-1)dx(i)=xi(i+1)-xi(i) Delta x
FORALL (i=is:if-1)p(i)=.1
n=0; 100 n=n+1
DO i=is,if-1
xp=dx (i) *p(i); p1=1./p(di)
d(i)=-p1/xp+p1/TANH(xp); e(i)= p1/xp-pl/SINH(xp) !compute d & e
ENDDO
FORALL (i=is:if,j=1:3)a(i,j)=0.
FORALL(i=is:if)b(i)=0.
! Compute u’’ by eqs(4.25) (4.26)
cycle_1: DO i=is,if

IF (i==1is) GOTD 11
a(i,1)=e(i-1); a(i,2)=d(i-1) lcoefs of 1lhs
b(i)=-(ui(i)-ui(i-1))/dx(i-1) 'rhs

IF(i==if)CYCLE cycle_1
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11 a(i,2)=a(i,2)+d(i); a(i,3)=a(i,3)+e(i) !coefs of 1lhs
b(i)=b(i)+(ui(i+1)-ui(i))/dx(i) !'rhs
c(i)=b(i)

ENDDO cycle_1

b(is)=b(is)-gs; b(if)=b(if)+gf ladd grads

CALL GAUSS3(a,b,is,if) 'compt u’’

! If necessary, increase tension

ip=0

cycle_2: DO i=is+1,if-1
bO=b(i); c0=2.*c(i)/(dx(i-1)+dx(i)) !spline & numer curvs
IF (bO*c0>=0. .AND. .8%ABS (b0) <ABS(c0) ) CYCLE cycle_2
p(i-1)=p(i-1)+.1*n*n; p(i)=p(i)+.1l*n*n lincrease tension
ip=ip+1

ENDDO cycle_2
WRITE(20,’ (2I10,6F10.1)’)n,ip,p

IF (n<10.AND.ip>0) GOTO 100

! Compute of spline

i=is

DO n=ns,nf-1; IF(n==nj(i+1))i=i+1
al=(x(n)-xi(i))/dx(i); all=1.-al lalpha, 1-alpha
xp=dx (i) *p(i); p2=1./p(i)/p(i)
u(n)=(ui(i)-p2*b(i))*all+(ui(i+1)-p2*b(i+l))*al & !compt spline

+p2/SINH(xp)* (b(i) *SINH(all*xp)+b(i+1)*SINH (al*xp))

ENDDO

u(nf) = ui(if)

END

P¥x*x*x Subroutine GAUSS3
! Solution of linear eqns with tri-diag matrix by Gaussian elimination
SUBROUTINE GAUSS3(a,b,is,if)
REAL a(is:if,3),b(is:if)
cycle_1: DO i=is,if
b(i)=b(i)/a(i,2); IF(i==if)CYCLE cycle_1; a(i,3)=a(i,3)/a(i,2)
b(i+1)=b(i+1)-b(i)*a(i+1,1); a(i+1,2)=a(i+1,2)-a(i,3)*a(i+1,1)
ENDDO cycle_1
DO i=if-1,is,-1
b(i)=b(i)-b(i+1)*a(i,3)
ENDDO
END

00000000000000000000xi=20ui=40x0u0000000000 Az=0.10
2, 000 u,0uw00 000000 «00000 du=6w000000,0000000 00000000
0000000000000nj00000 n00000000000000000j0 x(n)000000
000D000000000000000000000000 00000 is000 if000 g, 9,00
000000000 SPLO00 ESPLOOOO0ODO00000D0000000 0000000000

00000000 SPLO0D0D0000000000000000000 »00 g,,¢,0000000
00000000000000000000000000000000000000000000000
00000 (4.30a)(4.31)(4.30b) 0000 /000 100000 Gauss 000000000000 w0
0000D0a,b00000100000000000000000000000GAUSS300000 100
0000000000000000000000 al=e00000000000000 (42900000
u(n)=u, 00000000

00000000000000ESPLO000000000000 p=p;000000000000000
00000000000000b0=v'0000000 (43500000000 c0= (uiy1 —us)/Az; —
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(uj—u;—1)/Az,_, 0000000000000 DOOOCOOOOOOOOOOOOOOOOOOOODOOO
000000000000 p,=010000000000000 433)000000000 300000
0000000000000 00000000000000O0000oU0O0UOgn (rkoxeo<0)IDOOO
0000000000000 000000000000000000 (080l >co))0 0D ODDOOOOO
oooobp,o0b0b0o0obooboobOOoobooobbobooboo0obOobobooboOon
O0000000000000000exactD0000OO000O000O0O0O00OCOOOOSPLO ESPLO
0000000000000 00000O0OU00ODO000000UUODOCASE1D 200000000
00000000000 00o0O0O0U0oOoOooOooOO CASE2000000OODO0O0OODUOOogooDOoOo
O0.000000000000000000COCO0O000000CASE3DOOOOODOOOOO0Od
gbooobooooobooooboooooOoobboooobooooobooboboooboOooooooooooo
goooooooooooboOoooOooobob ESpPLOO0DO0OO0DOO0OODDOOO0OO0OCOODOOOODO
o0Oo40D0000001600000000000000DOOO0OO

T = -0.5 -0.3 -0.1 0.1 0.3 0.5 0.7 0.9
exact | 1.0000 .7400 .5600  .4600  .4400 .5000 .6400 .8600
CASE 1 SPL 0 0 0 0 0 0 0 0
ESPL 0 0 0 0 0 0 0 0
exact | 2.0000 1.4286 1.1111 .9091 .7692 .6667 .5882 .5263
CASE 2 SPL —46 6 —4 0 0 0 0 0
ESPL —46 6 —4 0 -1 0 0 0
exact | 1.0000 1.0000 1.0000 .8187 .5488 .3679 .2466 .1653
CASE 3 SPL 15 —74 280 353 —-95 25 -7 1
ESPL 0 -2 42 196 7 57 40 12
ESPL 0 0 12 174 99 —50 13 -3

0.8

0&

0.4

0z

o spline

% exp-spline

0 42: CASE3000000000O0
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44 0O00O0O0OO0ODOOOOOO

oooooooooooooboboot wOO0O0OO0O00b0000 oDboobbooooooooooo
0000 (least square method) 00 00 0000000000000 DO000O01/z00000000000
Ug20000000b0b00000b000b00b0b0oob00o0o00nb0 oooobooooboobooooDo
o000oo0o0Uoo0oo000RO0O0OOO 41)0n+1000000 @, 000000000000 KO
ood

ue =Y ayay (k=1,2,...,K) (4.37)
v=0

0o0o000O0ooOo000ooOU0000oO0oo0oOoC0OO0O0U0Oo0oOoUOooOOoOooOoODoOO 4300
oo 2000

S(ag, a1, .-, an) = i (ia,,x,;’—uk)z (4.38)

k=1 v=0

000000000 oo0O00o0000o0oo0o0oo0o00 (438)0S0a, (k=0,1,...,n)0200008
000000 a0 SO e, 0000000000000 00010000

ch,a,, = fu (b=0,1,...,n) (4.39a)
v=0
god
K K K
Cuv = Zaz,ﬁ‘az,;’ = Zm,ﬁ”", fu= Zaz,ﬁ‘uk (4.39b)
k=1 k=1 k=1

0000000000000 sboboooboooooosSion e, 02000000 cW:Zlexk”xk“>O
ooooooOooUoooOoO0O0oOOOOOU0O0OD0O0D 00000 41)0D0OO0OODOOOOODOOO
goobooboooooo

300 n=30000000 439000000000

Coagp + Cray + Caaz + Czaz = fo
Crap + C2a1 + Czaz + Cyaz = fi
Caag + Csa1 + Chaz + Csas = fo
Csag + Crar + Csaz + Ceas = f3

000 Cp=a2™ 4+, fu=zxfm+---+afug 0000

44.1 0OO00ODOODOOOO

ooboooooooboobooooboobooboooooboobooobooboooboboooooobooooD oo
uooboobobooooooooooooboboboooooooooooobooooobooooooon
o0 ooobobbotoooooboboooooboooooboobooooobobOOoobobOoboOon
gboooobboooobooooboooboobooOobooobooooooobooooobooboobOooooooon
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goboooooooboooooobooooooooooooobobooooobooobooobobobooooo
b 200000000000C0000D000DO0000O0O0O0O00
000000000000 (429 0000000000

S(z) = ap(1—a)® + a10® + az(1—a) + aza (4.40)
000 z=ugz;+adz;, Az; =2;4—2; 00000 (440)00000000000000

S'(x) = Az; H{—3ap(1—a)? + 3a10* — ay + a3} (4.41a)
S"(z) = 6Ax;"*{ap(1—a) + a1a} (4.41Db)

0000 ap, 000000 8"(z;) =0 §"(2;41) =4, 000000000000000

1 1 .
ag = EA:c?u'l'-, a; = anfu'l'-H (4.42)

00 0000000 ay,a3008(@)0 00 [y, 210000 wy, us, ..., ug 00000000000
00000000000000000000 2000

K
[ag(l—ak)3 + ala,f + ax(1—ay) + asay, — uk]2
k=1

Uae000 z000000000D0O0000000OC

Ciaz+Chaz = t; — Cyao — Ciay,

. (4.43a)
Cgaz +C’3a3 - ai+1—C5a0—C7a1
oono
K K K
C, = Z(l—ak)Q, Cy = Z(l—ak)ak, Cs = Zakz,
k=1 k=1 k=1
K K K
Co=> (1-ap),  C=) (I-a)’m, Co=) (1-ar)ef, (4.43b)
k=1 k=1 k=1
K K K
Cr = Za/f; U; = Z(l_ak)uk; Uiy = Zakuk
k=1 k=1 k=1
ax,az; JOODOODOODODOODOODOOO
1 = _
a2 Z—Z(Cguzurl—C3Ui+D2a0+D4(],1),
. (4.44a)
a3 = Z(Clﬂi+1 — Czﬂi+D1a0+D30,1)
gon
K K K K (a a )2
— 2 _ _ 1 — Qg
A= 0103 - 02 = Z(l—ak) Zal(al—ak) = ZZ T,
k=1 =1 k=1 1=1
K

M=

D1 = 0402—0501 = Z(l—ak)3

k=1 !

(1—au)(au—a),
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K
Dy = CyC3-C5C = Z(l—ak)3

k=1 l

0602_0701 Zak21 CM[ Oél Oék)
k=1

_ 2
) (1—3axa)—Da, (4.44b)

Mw
Mw
M=

1 k=

,_.
~
Il

-

K K 5
o —a
Dy =CsCs—C7Cy = E ap E ar(ar—ag) E E %akaz(ak+m)
k=1

k=11=1
obOoOoooboobOooooooooooooo

K K
ZZ(al—ak) =0
k=11=1

0 (441a)0 0 (4.42)(4.44) 000000

r ’I”i’l~l,i+1—8i’11i 1

ti= An o (grd)vizentiy (4.45a)
iyt — 8l 1
Uli+1 = % +du'}+ (E—ei)u'gﬂ (4.45b)
ooo
K K
Ci1+C, 1 K Co+Cs 1
=3 _ZZ(I_ak)_Z_S” 5i 3 Zzak,
k=1 k=1
K K
Aﬂfl D1 +D2 A:UZ 1 3
di = 6 A 6 ZZ(].—Oék) Z(al—ak)
k=1 =1
K K
Az; 1 (g —ag)?
=eit+ 6 Z Z #3(_0%_04), (4.45¢)

A
K K
Ax; D3 +Dy Az; 1
ey e Za,?Z(al—ak)
6 A 2
=1
000 (445a)0 «/;00 (445b)0 i »—1000000 «, 0000000

Tillip1 — Sill;  Tim1l;—Si—1Ui—1
Az; B Az
D00DO0DDD00000000000000 (4.40)0 (4.42)0 (4.44)0 (4.45)0 (446) 00003000
0000000000000 000000D00000 00 [z, 241)00000 a2, 000000000
oooobobOoU ug,us,...,us UO0OD0ODOD0DODODOODOO0OO0OODOOOOOODODODODOO
bbb oooooooooooboooooobbo booooboboooboooooboo 30on

gooao
goodddooooooooooboooooboboooooobL0D oo oo oOoooOon

" " "
di—1u i—1t (]. —€i—1 —dl)u i teiu i+l =

(4.46)

u(z) = 0.5+0.5 exp(—2x) 0<z<1)

gb0oooobooooboooboooooooooobooboboooobOooooobobooooboooooooobo
goocooOooobd



20 gooooD M @ @ M goooo

program MAIN

DIMENSION x(50),u(50),kn(0:5),dx(0:5),un(0:20)

DATA kf,if,nf/50,5,20/

DATA x/.031,.040,.058,.070,.071,.089,.106,.120,.
.279,.318,.323, .368,.372,.389, .430, .439, . 465,

141,.
.508,

.677,.682,.705,.717,.759,.786, .819,.822, .834, .853,
DATA u/.978,.959,.943,.927,.931,.923,.898, .896, .864,
.800,.757,.753,.728,.737,.729,.710, .699, .700, .688,

.620,.636,.614,.626,.621,.594,.600,.601,.591,
DATA g0,gf/-1.,-.135633/
DATA kn/12,10,8,9,11,0/ dx/5%.2,0./
OPEN (20,FILE="0UTPUT.dat’)
CALL LSSPL(x,u,kf,g0,gf,kn,dx,if,un,nf)
WRITE(20,’ (50F10.5) ’)x
WRITE(20,’ (50F10.5)’)u
WRITE(20,’ (21F10.5)’)un
CLOSE (20)
CALL LSSPLG(x,u,kf,un,nf)
STOP; END

Dkkxxkkkk*x Interpolation by least square spline
SUBROUTINE LSSPL(x,u,kf,g0,gf,kn,dx,if,un,nf)

.598,

160, .
.525,
.861,
.859,
.682,
.578,

.538,.570,
.908,.909,
.850,.831,
.661,.669,
.583,.578,.

179,.194,

.228,
.578,
.928,
.804,
.661,

580,

.229,
.612,
.945,
.813,
.654,
.586,

.232,
.626,
972,
.830,
.649,
.563,

!grads at both ends

'numbers of data in dx

!compute ls-spline

!printout ls-spline

.275,
.656,
.991/
778,
.647,
.563/

DIMENSION x(kf),u(kf),kn(0:if),dx(0:if),un(0:nf),a0(0:5),a1(0:5),a2(0:5),a3(0:5), &
tu(0:5),ttu(0:5),del(0:5),r(0:5),s(0:5),d(0:5),e(0:5),a(0:5,3),b(0:5)

! Prepare d_i,e_i,r_i,s_i... to compute u’’
kb=1; ke=kn(0); xi=0.
DO i=0,if-1; dx0=dx(i)
D0 k=kb,ke; ak=(x(k)-xi)/dx0
tu(i)=tu(i)+(1.-ak)*u (k)
ttu(i+l)=ttu(i+1)+ak*u(k)
s(i)=s(i)+ak
DO 1=kb,ke; al=(x(1)-xi)/dx0
akl=.5%(al-ak)* (al-ak)
del(i)=del (i)+akl
d(i)=d(i)+akl*3.*(1.-ak-al)
e(i)=e (i) +akl* (ak*ak+ak*al+al*al)
ENDDO
ENDDO
s(i)=s(i)/del(i)
r(i)=FLOAT (kn(i))/del(i)-s (i)
d(i)=(d(i)+e(i))*dx0/6./del (i)
e(i)=-e(i)*dx0/6./del (i)
kb=ke+1; ke=ke+kn(i+1)
xi=xi+dx0
ENDDO
! Determine u’’
cycle_1: DO i=0,if
IF (i==0) GOTO 11
a(i,1)=d(i-1); a(i,2)=.5-e(i-1)
b(i)=-(r(i-1)*ttu(i)-s(i-1) *tu(i-1))/dx0
IF(i==if)CYCLE cycle_1
11 a(i,2)=a(i,2)+.5-d(i); a(i,3)=e(i)
b(i)=b(i)+(r(i)*ttu(i+1l)-s(i)*tu(i))/dx0
ENDDO cycle_1
b(0)=b(0)-g0; b(if)=b(if)+gf
CALL GAUSS3(a,b,if)
! Compute a_0,a_1,a_2,a_3

'tilde u
'tildetilde u

!Delta

I's_i
'r_i
'd_i
le_i

lcoefs
!rhs

lcoefs
!rhs

!grads at both ends

!compute u’’
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kb=1; ke=kn(0); xi=0.

DO i=0,if-1; dx0=dx(i)
a0(i)=b(i)*dx0*dx0/6. la_0
al(i)=b(i+1)*dx0*dx0/6. la_1
C1=0.; C2=0.; C3=0.; D2=0.; D4=0.
DO k=kb,ke; ak=(x(k)-xi)/dx0

C1=C1+(1.-ak)*(1.-ak) 1C_1
C2=C2+(1.-ak) *xak 1C_2
C3=C3+ak*ak 1C_3

DO 1=kb,ke; al=(x(1l)-xi)/dx0
akl=.5%(al-ak)* (al-ak)

D2=D2+akl*(1.-3.*ak*al) 'D_2
D4=D4-akl*ak*al* (ak+al) 'D_4
ENDDO
ENDDO
D1= 6.*del(i)*d(i)/dx0-D2 'D_1
D3=-6.*del (i) *e(i)/dx0-D4 'D_3
a2(i)=-(C2*ttu(i+1)-C3*tu(i)+D2*a0(i)+D4*al(i))/del (i) la_2
a3(i)= (Clxttu(i+1)-C2*tu(i)+D1*a0(i)+D3*al(i))/del(i) la_3

kb=ke+1; ke=ke+kn(i+1)
xi=xi+dx0

ENDDO
! Compute least square spline and deviations
i=0; xi=0.
DO n=0,nf-1
al=(.05+FLOAT (n)-xi)/dx(i); ali=1.-al lalpha 1-alpha

un(n)=a0(i)*all*xall*all+al(i)*al*al*al+a2(i)*all+a3(i)*al !compute ls-spline
IF(.05*FLOAT (n+1) >=xi+dx (i) ) THEN
xi=xi+dx(i); i=i+1
ENDIF
ENDDO
un(nf)=al(if-1)+a3(if-1)
kb=1; ke=kn(0); xi=0.; deva=0.; devr=0.

DO i=0,if-1
DO k=kb,ke
al=(x(k)-xi)/dx(i); all=1.-al !alpha 1-alpha
du=u(k)-(a0(i)*all*ali*all+al(i)*al*al*al+a2(i)*all+a3(i)*al) !residuals
deva=deva+ABS (du) /FLOAT (kf) labsolute mean deviation
devr=devr+du*du/FLOAT (kf)
ENDDO

kb=ke+1; ke=ke+kn(i+1)
xi=xi+dx (i)
ENDDO
devr=SQRT (devr) !root mean square deviation
WRITE(20,’ (2F10.5)’)deva,devr
END

0o00ooooooo0os000000 x=g,0u=,000000 g0=uy=—10gf=u} =—exp(-2)
ooooobobob o<z <L1OS000000000000D00O000 xmO00O000DO0O axO0O
obobodoidbDw=w;, 0000000 LsseLOO0000O0O0O0OOODOOODOCOODOOODOOOO

1 X 1K 1/2
deva = EZ |dul, devr = (EZ 5u2> , O0u=up—S(zr)
k=1 k=1

0000000000 0000 LsSPLO00O00OOO /000000000 ayg, a1, a2, a3000000
00w, 000000000000 «/00000000000 (443b)00O i, Ui 00 (4.44b) 00 AO
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0 (4.45¢) 00 s;, 74, ds, e, 00000 (4.45a)0 (4.46)0(4.45b) 000000 100000 GAUSS30 00
000«/0000000 (442)0000 ap, e 0000000 (443b)00 Cy, Cy, Cs00 (4.44b) 00
Dy, D,00 (4.45¢)00 Dy, Ds00000 (4.442) 0000 ay, ;s 00000000 (440)000000
000 «,000000000000000000000000

000000D0000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
0000000000000000 «,000000000000000000000000000000
00000000000 «,00000000000000000000000000000000000
0000

up | =0 0.05 0.1 0.2 0.4
—1.0 | 9958 9531 9112 .8329 .7179
—0.9 | .9947 .9527 .9110 .8329 .7179

0 | .9856 .9487 .9086 .8331 .7179

Dd 1 | 1 1 1 1 1 1 1 ]

0 43: 0000000000O000O0000000O0

44.2 00000000

00000000000 bb w0 1000000000000 DOODODOOO0O0O0OOd
u(z) = a®b+c(l—x)+dx (0<xz<1) (4.47)

000 a,b,¢, d00000O0O0OOOODODOOOOOODOODODOOOOODOOODOOOODODOODODODOO
0000 u(ewg)—u, =Au, 0 2000

K K
S Auf =" {a"b+e(l—mi) +dap—ur}’ (4.48)
k=1 k=1
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Oabc000d0000 000DO0ODOOOODODO

Zf (a, b, ¢, d) = ZAuka k=0,

k=1

Zf a, b, ¢, d) ZAukaw’“—O

k=1

Zfabcd ZAukla:k

k=1

foabcd ZAukzk_O

k=1

=

=

(4.49)

=

=

0000 a,b,e,d00000000O000O00OOOOOOOOO0OO

gbooboobootboooooooooooobooobbooboobOobbooobooOooboOon 20
ubOboooboooboOoooooboboobooboooooDb oob 200000000 20000000
gobooboobooobboooobbOoboooo 200000000000 0O00CO0O0DOODOn
0 0000000000000 00 48)UUi0oU2000o00ogo

K

K K
%Z a“*by)? — Aupa™ b(1—xy,) :ck QZa%’“ Zl x1)?, 22.’5,?
1 k=1 k=1

00000000 20000000000 10000000000 0000 a®, 1—zg, x> 001—x O
z, 00000000 Aw, 000000000 O0000O0 jba®™| > |Aze|0000 1000000000
goooooooood

0 (449000 a,b, ¢, d00000000Oa, b,¢,d00 (449) 000000000000 0O0O0O0O0O0O
gbodoooboooboodooooooooooooooooooobOooOoo Lo ooDOobooOooa
000000000000 40 (2, w) = (0, U1), (1/3, Ux), (2/3,Us), (1, U,) 000000000000
0 447)000000U00O0O0O00ODOO0OO (44700000

u(z) = Uy +(A* —1)B+32C (4.50)

0000000 10000 Uy—U, = (A-1)B+C, Us—Us = (A—1)AB+C, Uy—Us = (A-1)A2B+CO00
20000 Us—2Up+U; = (A2-2A+1)B, Uy—2Us+U, = (A2—2A+1)ABO00000 000 (27)0000
A = (Ug=2Us+Us) | (Us=2Uo+U1 ), B = (Us—2U+U3)/(A2=24+1), C = U,—Uy—(A-1)BOOO0D00O000
000 (447)00 (450)00000000 (447)000000000a= 43, b=B, ¢ =U,—B, d= c+3C
0ooOooO0ooooon

000000 e b000000 (449)00 10200 Newton 0OOO0O000D0 ¢,d00000000
3040000 100000000000000000000Newton 000000 (449)00 10200
a=a+Ae, b=b+Ab0 000 1000000000000000000000000

CiAa+ CiAb= RHS® (i=1,2) (4.51a)
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oo
K S K
Cl = Z {62”*133,35—}—716]”,%}, Cy = de’“a:k,
k=1 a k=1
K e K
G =Y (@ lmb+ T, 3= @,

x~
Il
MR
o~
Il
—

I
=

K
RHS'=-%"fI (i=1,2), f

k=1
00 ¢,d000 10000000000O0O00OO
Cic+Cid= RHS' (i =3, 4)

gog

K

K

K
C; = Z(l—fﬂk)Z, Ci = Zazk(l—xk), RHS? = Z(Uk—aw’“b)(l—:ﬂk),
k=1

k=1 k=1
K K

Ci =) (I—zp)z, Cf=> af, RHS* =) "(ux—a™*b)zy
k=1 k=1 k=1

(4.51b)

(4.52a)

(4.52b)
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Pfkxxxkkkk*x Interpolation by least square exponential curve

SUBROUTINE LSEXP(x,u,kf,un,nf,ul,u2,u3,ud)
DIMENSION x(kf),u(kf),un(0:nf)
DATA naf,e/10000,1.E-5/
! Predict a...d from 4 typical point data
cA=(u2-2.*u3+ud)/(ul-2.*u2+ul)
cB=(u1-2.*u2+u3)/(cA-1.)/(cA-1.)
cC=u2-ul-cB*(cA-1.)
a=cAxcAxcA; b=cB; c=ul-cB; d=c+3.*cC
WRITE(20,’(I10,E15.3,4F10.5) ’)na,amax,a,b,c,d
'a=.135633; b=.5; c=.5; d=.5
na=0; 10 na=na+l
! Correct a and b
C11=0.; C12=0.; C21=0.; C22=0.; RHS1=0.; RHS2=0.
DO k=1,kf; x0=x(k); x1=1.-x0
ax=a*x*x0; xx=ax*x0
du=ax*b+c*x1+d*x0-u(k)
fl=du*xx; f2=du*ax
C11=Cli+xx*xx*b/a+x0/a*f1; C12=C12+ax*xx; RHS1=RHS1-f1
C21=C21+xx*ax*b/a+x0/a*f2; (22=C22+ax*ax; RHS2=RHS2-f2
ENDDO
del=C11*C22-C21*C12
da=(RHS1*C22-RHS2%C12) /del
db=(C11*RHS2-C21*RHS1) /del
al=1.; IF(na>10)al=1.5
a=atal*da; b=b+al*db
! Correct ¢ and d
C33=0.; C34=0.; C43=0.; C44=0.; RHS3=0.; RHS4=0.

!compute A...D

!compute a...d

!print predictor a..

'compt Delta u

!setup coefs & rhs

'Delta a
'Delta b

!correct a and b

.d
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DO k=1,kf; x0=x(k); x1=1.-x0
abu=u(k)-a**x0*b
C33=C33+x1*x1; C34=C34+x1*x0; RHS3=RHS3+abu*xl
C43=C43+x0*x1; C44=C44+x0%x0; RHS4=RHS4+abu*x0
ENDDO
del=C33*C44-C43*C34
dc=(RHS3*C44-RHS4%*C34) /del-c
dd=(C33*RHS4-C43*RHS3) /del-d
al=1.; IF(n>10)al=1.5
c=c+al*dc; d=d+al*dd
! Decide convergence
aa=ABS(da/a); ab=ABS(db/b); ac=ABS(dc/c); ad=ABS(dd/d)
AMAX=AMAX1(aa,ab,ac,ad)
WRITE(20,’(I10,E15.3,4F10.5) ’)na,amax,a,b,c,d
IF (na<naf.AND.amax>e) GOTO 10
! Compute ls-exponent line
DO n=0,nf
xi=FLOAT (n) /FLOAT (nf); un(n)=a**xi*b+c*(1l.-xi)+d*xi
ENDDO
END

!setup coefs & rhs

'Delta c
'Delta d

!correct ¢ and d

'print corrector a...d
!decide convergence

!compute ls-exponential line

oo0oo000 LsExp000D0O00O0DODODDOOOOOODO0O0OO0004000000U,=1.0,U,=
0.76, U3 =0.64, U, = 0570 000000OLSEXPO O OO0 (4.50) 0000000000 ABCDOOO
Oabed00000000OODOOO (451)00 @,b000000 (4.52)00 ¢,d00000O0ODOOODO
0ooOoOo00oooOO0o0oOoOO0O0O0O000O0O0O0O0DD W4nODODUODOOOOODOOODOOOOOOO

cooooooooooboooboOogoobooooooo0ooodboa, b, e, d0d0ooobDOoOOOO
obbO0oobOoobooboooboooobooboooooooobooooooooooog 199% 000000
gbjobbobooooooboboboboobooooboooooogswsbobuoobooooobooooonog
goboooobooooobooboooboboooooooobooobboooaoo

a b

¢ d

5+ .5exp(—2z) | .13533

.50000

.50000  .50000
64735 .54449
33099 54672

O00 00Oo0) .07234 .35265
ooooooono .05130 .05130

1.2

U L

1.0k,

0.5

06

D_q_ 1 1 | 1 1 |

a 0z 0.4 0.6

0 44: 00000000O0DOCOOOOOO



